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Candidate No: 1234656 © Question: 12

ing situations which have arisen at two unrelated audit clients, whether or

not the AUDIT REPORT on the financial statements should be modified by selecting the appropriate option.

(3) Shortly before Berry Lid's year end, one of Berry Ltd's customers commenced legal proceedings against

in respect of a nique matter and has no impact on Berry Ltd's abilityto

continue in business. Atthe date the audit report was to be signed it was not possible to determine the |
ultimate outcome of the matter. The company has made no provision for this claim in its financial
statements buthas made all of the relevant disclosures.

(b) On the last day of the year, Holly Ltd wrote off capital expenditure of £100,000 instead of including itin
additions to property, plant and equipment. The amount represents 1% of Holly Ltd's profit before tax. The.

ake any adjustments in respect of this matter.

Section 2 - Tasks and Questions.
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CBT Practice test model answers

External Auditing (EXA)

Practice assessment 2

Section 1

Task 1.1
[image: image2.png](a) Complete the following sentence in respect of the level of assurance by selecting the appropriate
option:

‘The level of assurance provided by an audit of financial statements conducted under International

St

(b) Complete the following sentence in respect of the responsibiliy for the prevention and
detection of fraud by selecting the appropriate option:

‘The primary responsisil

forthe detection and prevention of raud within an audited entiy rests

0 e marsgenent 3






Task 1.2
[image: image1.jpg]aat





Task 1.3

[image: image3.png]Identify whether the following statement in respect of the role of the International Auditing and
Assurance Standards Board (IAASB) is true or false by selecting the appropriate option.

‘The 1AAS8 s responsible for investigating and disciplining auditors who failto comply with auditing
standards.





Task 1.4

[image: image4.png]Identify the risk being described in each of the following statements by selecting the appropriate option.

(a) The risk that the procedures performed by the auditor will notfind a misstatement that exists and that
‘could be material, either individually or when aggregated with other misstatements.

[Detectionrisk__ g

(b) The risk that the auditor expresses an inappropriate audit opinion when the financial statements are
materially misstated.

(¢) The susceptibility of an assertion to a misstatement that could be material, either individually or when
‘aggregated with other misstatements, before consideration of any related conrols





Task 1.5
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Candidate No: 1234656 © Question: 12

Which TWO of the following are parties to which the external auditor may find himself liable?

Section 1. Tasks and Questions.

“The directors of a cient company who are not shareholders in that company

“The shareholders of a client company

Anythird party who has relied solely on the audited financial statements in making an investment

decision

Athird party who the auditor knew would rely on the audited financial statements in making an
investment decision
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Task 1.6

[image: image5.png](a) identify whether the following statement in respect of an auditor's reliance on internal controls is true
orfalse by selecting the appropriate option.

‘The external auditor can never rely completely on an entity’s internal control system, but must always carry
outsome substantive procedures.

[rrue’

(b) Identify whether the external auditor i likely to place reliance or place no reliance on internal controls
in the circumstance described below by selecting the appropriate option.

A company which has strong interal control systems and a management committed to enforcing such
systems.





Task 1.7

[image: image6.png]For each of the following, identify whether it is a control objective, risk or control procedure by
‘selecting the appropriate option.

{a) Non-current assets may not be acquired on the mostfavourable terms

{b) Purchase orders for the acquisition of non-current assets are raised only after board approval.

[Control abjective v

(€) Aminimum of three quotes ffom suppliers have to be obtained prior o acquisition of a non-current asset.

[Controlprocequre |53





Task 1.8

[image: image7.png]Identify the internal control component which is described, by selecting the appropriate option.

(a) The system for identifying potential events resulting in a failure to achieve business objectives and
deciding on actions to address those potential events.

[Entitys risk assessment process g

(b) The atitude, awareness and actions of management concering the entity's intemal control and its
importance to the entiy.

[Control environment v

(€) Aprocess to assess the effectiveness of internal control performance over time, including the design and
‘operation of controls andtaking necessary correclive actions.

[Monitoring of controls v





Task 1.9

[image: image8.png]Identify the assertion for which the following procedures will provide assurance by dragging the
‘assertion to the appropriate procedure.

[Review of suppliers' invoices after the year end to identity invoices which |Cut-off
[relate to goods and senices recsived before the year end.

[Inspection of a supplier's invoice for the description of an tem Classification
lpurchased.
[Physical inspection of a non-current asset. Existence

[Rights and obligations.





Task 1.10

[image: image9.png]For each of the following descriptions, identify the method of selection it represents, by dragging the
‘appropriate method of selection to the description.

[Selecting items withoutfollowing a structured technique, avoiding any |~ Haphazard

|conscious bias.

[Seleciing tems using a value-weighted method such as monetaryunit | Interval
|sampiing
[Seleciing tems on a probability basis whereby each ftem in the Random

lpopulation has an equal chance of selection

Block





Task 1.11

[image: image10.png](3) Auditors use tests of control and substantive procedures to gather audit evidence.

For the procedure listed below identify whether itis a test of control or a substantive procedure by
‘selecting the appropriate option.

Recalculation of a warranty provision figure.

[Eubstanie poceaure v

(b) When conducting an audit, auditors may adopt different strategies which involve using substantive
procedures only or a mixture of tests of control and substantive procedures.

Identiy the most appropriate audit strategy for the following company by selecting the appropriate
option.

Terrier Ltdis 3 small company, run by ts three owners, with no other employees.

[substantive procedures only v |







Task 1.12

[image: image11.png]For each of the procedures listed below, identify the type of CAAT which would be used to perform that
procedure by selecting the appropriate option.

[Ageing of receivables balances in order to target the oldest balances for direct
|confirmation.

[igentification of inventory ines in which there has been no movementfor the
lprevious six months

[Input of purchase orders in excess of pre-set authorisation limifs {o check that the
[system rejects such transactions





Task 1.13

[image: image12.png]Which TWO of the following factors are likely to increase the risk of misstatement in the financial
statements due to fraud?

Management always remedies known significant internal control weaknesses as soon as practicable.

Managementis often quick to promote employees to positions of responsibilty outside their areas of
expertise

Managementis also the owner of the business and sometimes fails to distinguish between personal
and business transactions.

Management always takes up two references before ittakes on a new employee.





Task 1.14

[image: image13.png]Identify whether each of the following points would appear on an internal control questionnaire or an
internal control checklist by selecting the appropriate option.

[Before placing a purchase order does the clerk check that it has been
[authorised by the purchasing manager?

[Customers’ credit imits are checked before an order is accepted.





Task 1.15

[image: image14.png]‘Which THREE of the following should be included in the external auditor's working papers?

‘The name of who performed the audit work and the date itwas performed.

‘The identifying characteristics of the specific items or matters tested.

‘The nature of significant matters discussed with the client's management

‘The client's signature approving conclusions reached on contentious issues.









Section 2

Task 2.1
[image: image15.png]Identify whether each of the following accounting systems will be subject to external audit by selecting
the appropriate option.

lInventory

[Trade receivables

[Trade payables





Task 2.2

[image: image16.png]Identify, for each of the following factors, whether it is likely to lead to the auditor assessing that there is
an increase or a decrease in control risk, by selecting the appropriate option.

[The audited entity has a history of employees failing to comply with
Imanagement's policies and procedures relating to the entit’s operations.

[The audited entity has policies and procedures for hiring, raining and
lpromoting employees and providing them with the necessary resources to
[discharge their assigned responsibiliies.

[The audited entity has mechanisms in place for monitoring adherence to
land reporting departures from company policy





Task 2.3

[image: image17.png]Match each risk mitigated to the internal control procedure by dragging the appropriate risk to the
procedure.

Internal control pros

[Goods despatch notes are generated
lirom authorised sales orders.

Risk mitigated

Despatching goods to unauthorised customers

[on delivery of goods, one part of the
|despatch note s signed by the customer
|and retained by the delivery driver.

Disputed invoices

[Goods being despatched butnot invoiced





Task 2.4

[image: image18.png]Identify whether each procedure is a strength or a weakness by selecting the appropriate option.

[Employees are reimbursed ffom petty cash for minor expenses. The only
|documentation required is a completed petty cash voucher which must be
|counter-signed by the cashier when the money is paid out

[hen petty cash drops to a preset level, itis topped up to an amount equal to
ltne sum of e petty cash vouchers issued since the lasttop up.





Task 2.5

[image: image19.png](3) Mercury Lid suffered an increase in the price of its principal raw material, but did not raise its selling
prices.

[Faitin gross proftmargin [l

(b) Neptune Ltd introduced an early payment discount for ts customers in order to improve its cash flow.

[Falin netprofitmaroin [l





Task 2.6

[image: image20.png]Identify, for each of the objectives set out below, the population from which the sample should be chosen
by selecting the appropriate option.

(3) Obtain evidence of the completeness of inventory belonging to an audited entity which maintains
‘continuous inventory records.

[Prysical inventory v

(b) Obtain evidence of the occurrence ofthe cash sales figure.

[Cashbook g




Task 2.7
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Task 2.8
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(3) ‘Cash in ransit should be

(b) *Goods intransit should be

Candidate No: 1234656

© Question: 12

Section 2 - Tasks and Questions.

During the audit of Perigord Ltd, the audit junior undertook the direct confirmation of receivables balances
‘Several ofthe balances do not agree due to cash in ransit and goods in transit. The auditjunioris unsure as
to how to deal with these tems and has requested guidance.

‘Complete each of the following sentences by selecting the appropriate option.

Geductediom I the balance on Perigord Lid's receivables ledger

Geductediom I the balance on Perigord Ld'sreceivables ledger
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Task 2.9

[image: image21.png]Identify whether cut-off procedures have been correctly applied by Kintyre Ltd for the year ended
‘31 March 20X6 by selecting the appropriate option.

[Cutoff procedures not correcly appiied |




Task 2.10

[image: image30.png]@

Risks
Claim may be unsetied at point audit report needs to be signed.
Incomplete disclosure of the associated facts in the notes to the financial statements.
Going concen riskif:

~the claim s successfulidue to adverse publicity

- H&SE impose a fine or close the business.
Amount of provision may not be fairly stated (ie should it be £300,000 not £200,0007).
May fail to accrue for associated legal costs.

Procedures
Examine correspondence with solicitors to ascertain whether £200,000 is adequate provision.

and confirm that a provision should be made (as opposed to a contingent iabiliy being disclosed).
Reviewthe note to the financial statements dealing with this matter and ensure facts are adequately
explained.
(i possible before audit reportis signed) ensure provision is in line with damages actually awarded.
Reviewtradeinational press for adverse publicity and consider impact on the company's
business.

by looking at order book/after date sales/cancelled ordersicorrespondence with customers.
‘Examine profitand cash flow forecasts to see if company can remain in business for the foreseeable
future.

Inspect correspondence with the H&SE





Task 2.11

[image: image22.png]Which ONE of these sales invoices should the audit junior definitely refer to his supervisor?

A sales invoice for an individually material amount, posted to sales.

Asales invoice to the sales director's brother, for an insignificant amount, with twice the usual level of
discount.

Asales invoice for the sale of surplus equipment, posted to a disposals account.

A sales invoice for goods which have been reserved for that customer.





Task 2.12

[image: image23.png]Identify which of the following courses of action the audit junior should take by selecting the appropriate option.

Referto supervisor__ [l





Task 2.13

[image: image24.png]Atthe end of each month, the sales ledger clerk at Mayday Ltd prepares an aged trade receivables listing.
During the audit of Mayday Ltd it was discovered that no one reviews this aged trade receivables listing.
Mayday Ltd gives 30 days credit to allof its customers. No statements are sent to customers, and they are.
expected to pay on an individual invoice basis.

Prepare extracts, suitable for inclusion in a report to the management of Mayday Ltd, which set out:

(i) the possible consequences; and
i) the recommendations you would make in respect of this matter.





[image: image25.png][ Consequences
- Debts which are overdue may not be chased...

- and as a result debts may remain unpaid..

..leading to an adverse impact on cash flow/going concern.

- Mispostings to individual customer's accounts may not be identified. ..

- and misposted invoices may therefore go unpaid

|- Misappropriation of customers' receipts/iraud may not be identified.

|- Customers may pay incorrect amounts as they have no statement to check against.
- More goods may be despatched to customers who are already bad debts.

Recommendations
- Atthe end of each month all debis (invoices) over 30 days old should be chased on an individual
basis/Review aged deb listing.
- Andthe aged trade receivables analysis annotated with the results of any letteriphonecall.
- The financial controller should review the result of each month's “chasing” exercise and:
-sign the aged trade receivables analysis as evidence of this review, and
- escalate proceedings if necessay.
- Receivables (customers) statements should be prepared monthly.
and safeguarded before despatch.





Task 2.14
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Candidate No: 1234656 © Question: 12

-
Section 2 - Tasks and Questions.

On 1 January 20X Revalco Ltd revalued s freehold building from its cost of £500,000 to a valuation of£1.2
million. The building is similar to other properties in the area, one of which is on the market. The valuation
was carried out by a local surveyor who provided Revalco Ltd with a report Revalco Ltd provides depreciation
on buildings calculated to write offthe cost of the building, but notland, over its estimated useful ife

poas

Set out,in a manner suitable for inclusion in the audit plan, the audit procedures to be undertaken to
‘ensure that the carrying amount of this property is fairly stated in the financial statements for the year
‘ended 31 December 20X6.

[ Obtain a copy ofthe surveyor'shaluer's report

- Agree the figure of £1.2 million o the surveyor'sivaluer's report.

- Enquire as to the experience and qualifications of the surveyor and therefore whether his valuation is
likely to be accurate.

- Confirm thatthe surveyor aluer s independent of the client

- Assess the reasonableness of any assumptions underlying the valuation, seeking expert advice if
needed.

|- Considerthe appropriateness ofthe valuations in the light of similar local properties recently sold.

|- Ascertain whatthe directors consider the usefullfe of the building to be and consider whether this is
reasonable based on similar companies/properties.

|- Ascertain whatthe directors consider the estimated residual value of the building to be and consider
‘Whether this is reasonable based on similar properties.

|- Recalculate the depreciation charge for the year based on (valuation - estimated residual
value)lestimated useful ife.

- Investigate why the value of the building has doubled.

- Physicallyinspectthe building for evidence of impairment/dsterioration in condition since valuation
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Task 2.15

[image: image26.png]Which ONE of the following is the most appropriate action for Orla to take?

Do nothing as she is bound by a duty of confidentiality to Buildco Ltd.

Report the matter to her firm's money laundering reporting officer.

Report the matter to the police.
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